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𝑅𝑒𝑣𝑒𝑛𝑢𝑒𝑖 = 𝛼 + 𝛽 ∗ 𝑝𝑒𝑟𝑖𝑜𝑑𝑖

𝑅𝑒𝑣𝑒𝑛𝑢𝑒𝑎𝑑𝑗𝑢𝑠𝑡𝑒𝑑 = 𝛼 + 𝛽 ∗ 𝑝𝑒𝑟𝑖𝑜𝑑𝑖 ∗ 𝑠𝑒𝑠𝑜𝑛𝑎𝑙𝑖𝑡𝑦 𝑖𝑛𝑑𝑖𝑐𝑒𝑠.

                                                                              

       _cons     -8450.21   1359.707    -6.21   0.000     -11142.8    -5757.62

      season     660.0675   19.50382    33.84   0.000     621.4446    698.6904

                                                                              

       sales        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

       Total    6.9198e+10   119   581497205           Root MSE      =  7400.9

                                                       Adj R-squared =  0.9058

    Residual    6.4633e+09   118  54773646.9           R-squared     =  0.9066

       Model    6.2735e+10     1  6.2735e+10           Prob > F      =  0.0000

                                                       F(  1,   118) = 1145.35

      Source         SS       df       MS              Number of obs =     120

. reg sales season
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